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1. The first urban settlement to reach a population of one million was the city of----
a. Paris b. London
c. Mumbai d. Shanghai

2. Which of the following criterion is taken into consideration by most of the
countries to mark an urban place?

a. Size of population b. Location

¢ .Occupational structure d. Administrative set up

3. Which of the following pair is not matched correctly?

COUNTRY LOWER LIMIT OF POPULATION FOR URBAN AREA
a. United States of America 2500

b. India 10,000
c. Japan 30,000
d. Argentina 2000

4. Which of the following criteria is taken into consideration to define urban
population in India?

a. Minimum population 5000

b. Density of 400 persons per sg. km

c. More share of non- agricultural workers
d. All of the above

5. On the basis of the economic activity, which settlement is considered as urban
settlement in Italy?

a. If more than 50% of its economically productive population is engaged in non-
agricultural pursuit




b. If 75% of its economically productive population is engaged in non-agricultural
pursuit

c. If 85% of its economically productive population is engaged in non-agricultural
pursuit

d. If 65% of its economically productive population is engaged in non-agricultural
pursuit

6. Which of the following pair is not matched correctly?

1 CITIES FUNCTION

a. Sheffield - Industrial town

b. London - Port town

c. Chandigarh - Administrative town
d. Chennai - Fishing town

7. Which of the following town is classified as an administrative town?

a. Delhi b. Addis Ababa
c. Washington DC d. All of the above

8. Consider the following and choose the correct answer with the help of given
codes.

[ TOWNS CLASSIFICATION
I. Kansas 1. Cultural town
Il. Frankfurt 2. Agricultural-market town
[11. Manchester 3. Transport town
IV. Baghdad 4. Large inland centers
V. Jerusalem 5. Financial centers
Codes-

I ] im 1wV Vv
a. 1 2 3 4 5
b. 5 4 3 2 1
C 2 5 4 3 1
d 1 3 2 5 4



9. Which of the following town is classified as a planned town?
a. Canberra b. Kolkata
c. Allahabad d. Tehran

10. A mega city or megalopolis is a general term for cities together with their
suburbs with a population of more than 10 million people. Which of the following
city was the first to attain the status of a mega city?

a. London b. Mumbai

c. New York d. Shanghai

11. Which of the following scholar first used the term ‘“Megalopolis’ (great city)?
a. Jean Gottman b. Luetens

c. Pattrick Geddis d. Levis Mumford

12. Which of the following pair is not matched correctly?
CITY TERMINOLOGY SCHOLARS

a. City - Levis Mumford

b. Conurbation - Pattrick Geddis

c. Million city - Luetens

d. Megalopolis - Jean Gottman

13. Which of the following problem is associated with the urban settlements of
developing countries ?

a. Heavy pressure of population

b. Congested and squatter houses and narrow streets
c. Lack of potable water

d. All of the above

14. Which of the following factor is responsible to create ‘heat island’ in cities?
a. Very large population

b. Huge concrete structures erected to accommodate the population

c. The domestic and industrial waste dumped without treatment at unspecified
locations

d. All of the above

15. Discuss the problems associated with urban settlements in developing
countries.



